Direction (1-5): Study the following information carefully and answer the

question given below.
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Seven persons viz. T, U, V, W, X, Y, and Z are living in a seven storey building but
not necessarily in the same order. Each person has different pets viz. Cat, Cow, Dog,
Goat, Hen, Parrot, and Pigeon but not necessarily in the same order. The lowermost
floor is numbered 1 and the floor immediately above is numbered 2 and so on.

X was living on a prime numbered floor but neither at the topmost floor nor at the
bottommost floor. The number of floors above X is the same as the number of floors
below the one who has Pigeon. V was living in the floor immediately above the one
who has Pigeon. The one who has Cow lives three floors below V. Only one person
lives between Y and the one who has Cow. The number of floors below Y is one more
than the number of floors above the one who has Parrot. The one who has Goat lives
two floors below the one who has Parrot. The number of floors between X and the one
who has Goat is the same as the number of floors between the one who has Dog and
Z, who doesn't live above the one who has Dog. Both U and T live above Z but not in
consecutive floors. Both U and T doesn't live on the 6% floor. W neither has Cow nor
lives adjacent to T. The one who has Cat doesn't live on the topmost floor.

1) Who among the following person has Parrot?

A. The one who lives immediately below Y



B. U
C.w
D. X

E. None of these

2) On which of the following floor does T live?

A. The floor immediately above Z

B. The one who has Cat

C. The floor immediately above the one who has Parrot
D. The one who has Hen

E. None of these

3) Who among the following person lives two floors below the one who has
Cat?
A. T
B. U
C. W
D.Y

E. None of these

4) The number of floors above the one who has Pigeon is the same as the
number of floors below

A. W

B. X

C.V

D.Y

E. None of these

5) How many persons live between U and the one who has Goat?
A. One

B. Two

C. As many persons between W and T

D. More than three

E. None

Directions (1-5):



1) Answer: C
2) Answer: A
3) Answer: D
4) Answer: B
5) Answer: B
Floor | Person Pets
7 U Hen
6 W Parrot
5 X Cat
4 \' Goat
3 Y Pigeon
2 T Dog
1 z Cow

1. X was living in a prime numbered floor but neither at the topmost floor nor at the
bottommost floor. The number of floors above X is the same as the number of floors

below the one who has Pigeon.

Case 1 Case 2 Case 3
Floor | Person| Pets |Person| Pets |Person| Pets
7
3] Pigeon
5 Pigeon X
4
3 X Pigeon
2 X
1

2. V was living in the floor immediately above the one who has Pigeon. The one who
has Cow lives three floors below V. Only one person lives between Y and the one who
has Cow.



Case 1 Case 2 Case 2a Case 3

Floor | Person| Pets |Person| Pets |Person| Pets | Person| Pets

7 vV

6 Y Pigeon \ V

5 Pigeon Pigeon

4 Cow V

3 X Cow X Cow Y Pigeon

2 X

1 Y Cow

3. The number of floors below Y is one more than the number of floors above the one
who has Parrot. The one who has Goat lives two floors below the one who has Parrot.

Hence, case 2a gets eliminated.

Case 1 Case 2 Case-2a Case 3

Floor | Person| Pets |Person| Pets |Person| Pets | Person| Pets

7 V

6 Y Pigeon V V Parrot

5 Y Pigeon Pigeon

4 Cow Parrot V Goat

3 Parrot X Cow X Cow Y Pigeon

2 X Goat

1 Goat Y Cow

4. The number of floors between X and the one who has Goat is the same as the
number of floors between the one who has Dog and Z, who doesn't live above the one
who has Dog. Both U and T live above Z but not in consecutive floors. Both U and T

doesn’t live on the 6™ floor. Hence, case 2 gets eliminated.



Case 1 Case 2 Case 3

Floor | Person| Pets |Person| Pets |Person| Pets

7 V U/T

6 Y Pigeon \' Parrot

5 u/T Pigeon

4 Cow Parrot V Goat

3 T/U Parrot X Cow Y Pigeon

2 X Dog Goat T/U Dog

1 z Goat £ Cow

5. W neither has Cow nor lives adjacent to T. The one who has Cat doesn't live on the

topmost floor. Hence, case 1 gets eliminated.

Case 1 Case 3
Floor | Person| Pets |Person| Pets
7 \ U Hen
6 Y Pigeon W Parrot
5 u/T X Cat
4 Cow V Goat
3 T/U Parrot Y Pigeon
2 X Dog T Dog
1 z Goat z Cow

Directions (6-10): Study the following information carefully and answer the

questions given below:
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Eight persons - L, M, N, O, P, Q, R, and S, are sitting in the linear row such that some
of them are facing north while some are facing south direction. Not more than two
adjacent persons face the same direction. Each of them uses different brand mobile
phones - Oppo, Nokia, Apple, Gionee, Vivo, MI, Samsung, and Jio. All the information
is not necessarily in the same order.

Note: The consecutive alphabetically named person doesn't sit adjacent to
each other. The left and the right ends are taken as per your left and right.

Q, who uses MI, sits third from the left end. Only one person sits between Q and the
one who uses Oppo. The one who uses Vivo faces in the opposite direction of Q and
sits to the immediate left of Q, who faces south. The one who uses Apple sits second
to the left of the one who sits to the immediate right to the one who uses Vivo. The
one who uses Jio sits to the immediate left of the one who uses Gionee and vice
versa. The one who uses Samsung does not sit at the ends of the row. S sits second
to the right of the one who uses Gionee. Only one person sits between R and S. The
one who uses Samsung faces the same direction as the one who uses Oppo, which is
used by L. The persons who sits at the ends of the row face the opposite directions.
The immediate neighbors of R are facing the opposite directions. Both P and N are
neither using Apple nor Nokia. Both M and P are adjacent to each other.

6) Which of the following combination is false with respect to the final
arrangement?

A.M-Vivo

B.S- Nokia



C.L-Jio
D.N-Samsung
E.O-Apple

7) Four of the following five are alike in a certain way and hence form a
group. Find the one that does not belong to that group.

A.LN

B.QP

C.RO

D.SQ

E.NS

8) Who among the following person sits to the immediate left of the one
who uses Samsung?

A.L

B.The one who sits third to the left of M

C.The one who sits second to the right of Q

D.The one who uses Oppo

E.All the above

9) Who among the following person is the neighbour of P?
A.S

B.The one who uses MI

C.Q

D.The one who sits second to the right of N

E.None of these

10) How many persons are sitting between R and the one who uses Oppo?
A. Four

B. Two

C. One

D. Three

E. None

Directions (6-10):

6) Answer: C



7) Answer: E

8) Answer: E

9) Answer: D

10) Answer: A

We have,
e Q, who uses MI, sits third from the left end.
e The left and the right ends are taken as per your left and right.
e Only one person sits between Q and the one who uses Oppo.

From the above condition, there are two possibilities.
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MI Oppo
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Again we have,
e The one who uses Vivo faces in the opposite direction of Q and sits to the
immediate left of Q, who faces south.
e The one who uses Apple sits second to the left of the one who sits to the

immediate right to the one who uses Vivo.
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Again we have,



e The one who uses Jio sits to the immediate left of the one who uses Gionee and
vice versa.

e The one who uses Samsung does not sit at the ends of the row.

e S sits second to the right of the one who uses Gionee.

From the above condition, case 1 gets eliminated.
basKl
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Again we have,
e Only one person sits between R and S.
e The one who uses Samsung faces the same direction as the one who uses
Oppo, which is used by L.
e The persons who sits at the ends of the row face the opposite directions.
e The immediate neighbors of R are facing the opposite directions.

e Not more than two adjacent persons face the same direction.
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Again we have,

e Both M and P are adjacent to each other.

e Both P and N are neither using Apple nor Nokia.

e The consecutive alphabetically named person doesn't sit adjacent to each other.
From the above condition, case la gets eliminated. Case 2 shows the final

arrangement.
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Directions (11-15): Study the following information carefully and answer the

below questions
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Ten taxi owners- M, N, O, P, Q, R, S, T, U, and V are paying their road tax on
different months- January, March, April, May, June, August, September, October,
November and December. All the information is not necessarily in the same order.

M paid in the month after June. U paid three months before M. U pays neither in June
nor in August. Only two persons are paying between U and O. V paid two months
after the one who paid three persons before M. The number of persons paid between
O and V is the same as the number of persons paid between U and N. There is a gap
of one month between N and P. Q paid immediately before the month of S. S does
not pay in a month having an odd number of days. The number of persons paid
between Q and M is one more than the number of persons paid between P and T. R
does not pay after P.

11) Four of the following are alike a certain way and hence form a group.
Who among the following does not belong to the group?

a) The one who paid immediately before Q

b) The one who paid two persons before N

c) The one who paid immediately after O

d) The one who paid three months after V

e) The one who paid two persons after N

12) Which of the following statement is/are true?
I. S and U paid in consecutive month

II. Only three persons paid between R and Q

III1. V is paid in June

IV. N paid in month having an odd number of days
a) Only I, II, and III



b) Only IIT and IV
c) Only I, III, and IV
d) Only II and 1V

e) None of these

13) Who among the following person paid in October?
a) The one who paid immediately before M

b) The one who paid two months before P

c) The one who paid immediately after R

d) The one who paid three months after O

e) The one who paid two months before M

14) In which among the following Month U has paid the tax?
a) August

b) June

c) April

d) March

e) May

15) How many persons paid between U and R?
a) One

b) As many persons paid between Q and V

c) Three

d) Four

e) As many persons paid before N

Directions (11-15):
11) Answer: D
12) Answer: C
13) Answer: B
14) Answer: E
15) Answer: D

Final Arrangement



January
March

April

May

June

August

September
October

November

ol B Z =< Cl VO O

December

We have,
e M paid in the month after June.
e U paid three months before M. U pays neither in June nor in August.

From the above condition, there are two possibilities.

Casel Case?2

January
March

April
May U

June

August M

September U
October

November

December M

Again we have,
e Only two persons are paying between U and O.

From the above condition, there are three possibilities.



Casel | Case2?2 | Casela

January 0
March
April

May U 0 U
June
August M M
September U 0
October

November

December M

Again we have,
e V paid two months after the one who paid three persons before M.
e The number of persons paid between O and V is the same as the number of
persons paid between U and N.

e There is a gap of one month between N and P.

Casel| Case2 | Casela
January 0 P P
March N N
April
May ) (0] u
June V Vv
August M M
September U 0
October N
November Vv
December |P M

Again we have,
e Q paid immediately before the month of S.
e S does not pay in a month having an odd number of days.
e The number of persons paid between Q and M is one more than the number of
persons paid between P and T.

e R does not pay after P.



From the above condition, case2 and Casela get eliminated. Casel shows the final

arrangement.
Casel | Case? | Casela

January 0O

March Q N N
April S

May ) 0 U
June Vv V
August M M
September | T U 0O
October N Q
November |R Vv S
December | P M







